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Insiiuctions:

L Attempt all questions from eacl; seetion

2. Figures to the vight indiente full marks,

3. Make suitable assumptions wherever necessary,

Q.1 Fillin the blanbe, (Us)
I Let A be asingleton set then no.of subsets ol d = _
A0 . 1 C. 2 D, 4
2 Ifn() = 4n(A) =2,n(B) = 3and n(Ank) = 2thenn(A') = .
A0 B 2 D. 4

1 ITAis 6% 6 matrix, Bish > 7 and € is 6% 5 mateix then which of the £ 1t
15 passible

A.CA AN C.Al D). none of them
4 Forgny two disjoint sets which of the following is not true,

A n(AUB) = n(A) + n(m Ba(Annp)=0

ConAnd) = n(d) + n(n) DANE =@
5 How many terms are there in the geometric progression 2,4, 8, .+ 1287

AS 1.6 i 1y, 9
O 1 12 2 3

A = |5 q 1] UJ then tr(A)is_____,

1 4/5 6/5 0

A. =7 3. 7 C.0 D. Not possible

T Twomatices A and 13 are mulliplicd to get DA if

Aot e 1ed Langulor Cono of rows ol A s equitl 1o no of calumns of 13
B.both have same order D.no ol columns of A is cqual to columns of B

8 Givean example of a matrix which is symmetrie as well as skew-symmelric,
upper trimmpular as well as lower triainenlar

Q2 A llU=[y=104+ ala =0,1,2345),4 = (*ER|-15<x < 13) 1)
B=1alll < x < 15)then rewrite the sets using listing method,
Andvenly (An ) = A'up

B. I Find the sum of the first 19 terms ol the AP 4, -2, -8, (14)
I Tand the sum of the first 12 1erms ol the G with first term 3 and Conmon
ratio 1,3,
Q3 A Fvaluaste () 24438 - (T (i) 2C = 24T 4 ;7
—_— 2 4 o, [2 ] e
e [.-1 o 2)78=l3 . t IJ'(' | 'I [i"
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x+2y+3z=1
3x+y+2z=11
2x +3y+z=11
0.4 At mpt any 2 out of 3
(i) There are 35 students in art class and 57 students in dance ¢ 25z Find the ¢
of students who are « JIJ._r in art class or in dance class
(a) When two classes méet at different hours and 12 stude—ts 2ro —itay
IviILlic

(b) When two classes meet at the same hour.

(i) An AP s given by k, Eﬁ_i 0,... Ifthe 20tk term is equal to—156. 6§

Also, using this value of k, (a) lind the sixth term (O} ind the suem of firsg [(

terms
(iii) IIU—[rEhg—"5<x<4} A=[xeN|-35<x<4)

-{r{r—ljh*l)fr+2}- 0} then

(@A FindA'NnE . AxR

(b) L ind powa st alf g

Q.5 Atempt ooy 2 gut of 3
(1)  Solve using inverse of a matrix -

1 2 3
2.0 1}35&
3 =2 1

um oi 2 symmetric and 2 skew-svmmeric

0]

—

(ii) Express A = [

matrix

(iii) Find A7! .ifexists. for 4 = [—

=
|
I

3

) oldinieu witl udlioC




